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QUESTION 51
When is aroute-policy configuration needed on a Cisco 10S XR router using RPL?
A. when enabling an IGP routing protocol configuration
B. when enabling an EBGP peering configuration
C. when enabling an IBGP peering configuration
D
E

when enabling route redistribution
when enabling an LDP peering configuration

Answer: B
QUESTION 52
Refer to the partial Cisco 10S router configuration exhibit. Which type of tunnel configuration is shown?

interface Tunnell

ipv6 address 2001:db8:3::2/64
tunnel source Gigabitfthernet0/0
turine’ destination 209.165.201.T
tunnel mode ipv6ip

A. GRE tunnel

B. manual 6in4 tunnel

C. 6to4 automatic tunnel

D. 6RD

E. IPv4-in-1Pv6 tunnel

Answer: B

QUESTION 53

Which two protocols are most often deployed in Cisco IP NGN multiservices core networks to support services like VPNs? (Choose
two.)

A. MPLS

GRE

MGRE

SSL

VTI

. multiprotocol BGP

Answer: AF

QUESTION 54

Which segment protocol provides fast and predictable convergence (typically within 50 ms) in Layer 2 Ethernet ring topol ogies?

Mmoo

A. Spanning Tree Protocol

B. FlexLinks

C. Resilient Ethernet Protocol
D. Spatia Reuse Protocol

E. Resilient Packet Ring
Answer: C

QUESTION 55
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Within an MPLS domain, which tableis used by the ingress edge L SR to make forwarding decisions when an unlabeled | P packet is
received?

FIB

LFIB

LIB

MP-BGP

VRF

Answer: A

QUESTION 56

Which three statements about access control lists on a Cisco |OS router are true? (Choose three)
The more specific ACL entries should be placed at the top of the ACL.

The generic ACL entries should be placed at the top of the ACL, to filter general traffic and reduce noise on the network.
ACLs aways search for the most specific entry before taking any filtering action.
Router-generated packets cannot be filtered by the interface ACLs on the router.

Extended ACL s should be placed as close to the destination as possible.

. Theremust be at least one permit statement in an ACL, or al traffic is denied.

Answer: ADF

QUESTION 57

Which Cisco |0S access list permits HTTP traffic that is sourced from host 10.1.129.100 port 3030 and that is destined to host
192.168.1.10?

access-list 101 permit tcp any eq 3030

access-list 101 permit tcp 10.1.128.0 0.0.1.255 eq 3030 192.168.1.0 0.0.0.15 eq www
access-list 101 permit tcp 10.1.129.0 0.0.0.255 eq www 192.168.1.10 0.0.0.0 eq www
access-list 101 permit tcp host 192.168.1.10 eq 80 10.1.0.0 0.0.255.255 eq 3030

access-list 101 permit tcp 192.168.1.10 0.0.0.0 eq 80 10.1.0.0 0.0.255.255

. access-list 101 permit ip host 10.1.129.100 eq 3030 host 192.168.1.100 eq 80

Answer: B

QUESTION 58

What is dual 10S mode on the Cisco ASR 1001 Router?

A. redundant 10S processes that are running on the active RP and standby RP

B. active and standby 10S processes that are running on asingle RP

C. separate Cisco 10S XE and |OS XR processes that are running on asingle RP

D

E

moowp»

nmoow>

TMo O >

separate Cisco 10S XE and |0S XR processes that are running on two different RPs
checkpointed redundant 10S processes that are running on two different RPs in active/active mode
Answer: B
QUESTION 59
Which Cisco platform runs the Cisco |OS XE operating system?
A. Cisco ASRIK
B. CiscoCRS
C. Cisco 12000 GSR
D. Cisco ASR1K
E. Cisco ME 3400
F. CiscoISR-G2
Answer: D
QUESTION 60
A service provider needs to implement a managed CE device that supports Cisco 10S ISSU, and the current CE support staff is
highly trained in Cisco 10S only. Which Cisco router platform should the service provider implement as the managed CE device?
A. Cisco ASR1K
B. CiscolSR-G2
C. Cisco ASR9K

Output as PDF file has been powered by [ Universal Post Manager ] plugin from www.ProfProjects.com | Page2/3 |


http://www.ciscovceplus.com/?p=2446
http://www.ciscovceplus.com/?p=2446
http://www.profprojects.com/?page=upm

DhisipstOtasiast ridiedihcbBr aiRdssihpaderdNactCtecddsisim Dumps - CCNA, CCNP, CCIE, DevNet, CCDE Certification Exam
Export date: Fri Mar 29 15:23:48 2024 / +0000 GMT

D. Cisco 12000 GSR

E. Cisco 7200
F. Cisco 7600
Answer: A

New 640-878 exam questions from PassLeader 640-878 dumps! Welcome to download the newest Passl eader 640-878 VCE and
PDF dumps: http://www.passl eader.com/640-878.html (140 Q& As)

P.S. Free 640-878 dumps are available on Google Drive shared by Passl eader:
https://drive.google.com/open?d=0B-ob6L_QjGL pU3VHYVJY eUFmQIk

Output as PDF file has been powered by [ Universal Post Manager ] plugin from www.ProfProjects.com | Page3/3 |


http://www.ciscovceplus.com/?p=2446
http://www.ciscovceplus.com/?p=2446
http://www.passleader.com/640-878.html
https://drive.google.com/open?id=0B-ob6L_QjGLpU3VHYVJYeUFmQlk
http://www.profprojects.com/?page=upm

